O 0]

O]
SET-2
Series BVM/C wIE A,
Code No. 67/1/2
S 4.
gleeff ®ig # IH-Yead & g@-
ROHNO. q'{&;[aw%'@| s H—@Tg

Candidates must write the Code on the
title page of the answer-book.

o HYA ST H A foh 38 YU H Hfgd Y5 28 @ |

o TH-UA H Fied FTU HI AR T T Shig T Hl B IT-IEehl o JE@-I8 |
fad |

o FHUA A T oh 39 TH-IT H 23 Y 7 |

o HUAT TTH 1 IW {TEHT & KL ¥ UgeA, T T THuTeh a9 ford |

o T YHUA HI UG % fo1C 15 fire 1 Tm fean w2 | weA-uw o TR gty
H 10.15 1 fopa SO | 10.15 991 € 10.30 51 T ST hadl TH-UF Hl T
3TN 39 AT & GRF o IT-YIEdh! W g I &1 fora |

e Please check that this question paper contains 28 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 23 questions.
e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(i) This question paper contains two parts — A and B.

(it)  Part A is compulsory for all.

(iti) Part B has two options - Analysis of Financial Statements and
Computerised Accounting.

(iv) Attempt only one option of Part B.

(v)  All parts of a question should be attempted at one place.

WU &
(TR TISAT, AT BHT AT BT o T8 AEmen)
PART A

(Accounting for Not-for-Profit Organizations, Partnership Firms and Companies)

1.

foreft TR dited & foa faemur IR d 999 9= T 1 dEl hE

ToRe ST 7 2 1
arerEn
‘ITTSia HEEIaT Yook b1 T 37 7 ? 1

How are general donations treated while preparing financial statements of
a not-for-profit organisation ?

OR
What is meant by ‘life membership fee’ ?

1 J[TTE, 2018 =l TS AT HHT 3 Tk PR ®H A i | IgiH ot forn
5 T =+ T 2,500 Ui foumdl o= aur dar & iy % uvETq HE S g
ATH T 10% HHIRE <F o7 |

TS I oA d1 €91 1 AR § g 31 A=, 2019 i FETA §C N o6 fAQ
BH &1 g AT T 2,27,500 AT | THT o FHHIIE I AT T | 1
Raj and Seema started a partnership firm on 15t July, 2018. They agreed
that Seema was entitled to a commission of 10% of the net profit after
charging Raj’s salary of ¥ 2,500 per quarter and Seema’s commission.

The net profit before charging Raj’s salary and Seema’s commission for
the year ended 31st March, 2019 was ¥ 2,27,500. Calculate Seema’s
commission.
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3. U TIHER o YAV < 0T BH o Y H & T HIEGR o A9 o W I (i

I AT B ? 1
AYAT
T TEUT hid THI I AR o U ATH-FEHSH AT ohl TTUFT he h
STt B 2 1
At the time of admission of a partner, who decides the share of profit of the
new partner out of the firm’s profit ?
OR

At the time of retirement, how is the new profit sharing ratio among the
remaining partners calculated ?

4. 3T o AY-ATUGH 1 =T 37 7 ? 1
HAAAT
3T o T T T Y 7 ? 1
What is meant by over subscription of shares ?

OR

What is meant by ‘par value’ of a share ?
5., %, @ a¥T 7 WIEER ¥ QAT 5 : 4 : 3% UK H A9 Sied I | 3@
1 3799, 2019 § 310 ATH-HEWISH TITd ! 2: 2 : 1§ Sga o1 o form |
35 fafyr =1 g T==F § T 3,00,000 T AY A7 9AT ATH-BIH @Td o A9 9&I
T T 4,80,000 T AT T |
IIH % TIU AT-HEwWSH 31U § Uiad o q9a ATavash U= wfafeeat
i | 1

A, B and C were partners sharing profits in the ratio of 5 : 4 : 3. They
dec1ded to change their profit sharing ratio to 2 : 2 : 1 w.e.f
15t April, 2019. On that date, there was a balance of ¥ 3,00,000 in
General Reserve and a debit balance of T 4 ,80,000 in the Profit and Loss
Account.

Pass necessary journal entries for the above on account of change in the
profit sharing ratio.

6. T AT T Th BH o AR & qAT 1: 3k TIIMA § AU dled o | i
@M 9 %H &I T 1,00,000 T 01 feaqm | 79 G5 ok fafch e 3 o wH Rl
T 1,50,000 1 KT @1 | 1 373, 2019 H BH I foeed & T AT TR
qREF R | ¥ 1,40,000 9T 3T |
I8 Wi gY foh wH st i Fdta vt dan 7@ off, e @@ qen e & R
YA 3hH T Ig@ hHITIT | 1
Khan and Gupta were partners in a firm sharing profits and losses in the
ratio of 1 : 3. Mrs. Khan gave a loan of ¥ 1,00,000 to the firm. Gupta also
gave a loan of ¥ 1,50,000 to the firm besides his capital. On
15t April, 2019 the firm was dissolved and its assets realised ¥ 1,40,000.
Assuming that there was no third party liability of the firm, state the
order of payment of Mrs. Khan’s loan and Gupta’s loan.
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7. Tr=Afafed gei = 31 9, 2019 i 4 Fa9 & feafa foewor § zwisu
gSft iy (1 31, 2018) ¥ 10,80,000
o HIY (1 31, 2018) T 4,80,000
o & e Ied e T 6,00,000
10% o= i e (1 319, 2018) T 4,80,000
Tod Y s W 9T =1t T 48,000

wod I W T 3,60,000 T = a1 | Wﬁnhmaﬂﬂw%m%am@
T g B

Present the following items in the Balance Sheet of Queen’s Club as at
31st March, 2019 :

Capital Fund (18t April, 2018) ¥ 10,80,000
Building Fund (15t April, 2018) T 4,80,000
Donation received for Building < 6,00,000
10% Building Fund Investments (15t April, 2018) < 4,80,000
Interest received on Building Fund Investments T 48,000

Expenditure on construction of building ¥ 3,60,000. The construction
work is in progress and has not yet been completed.

8. & U1 fAyH AISER & QT 2 : 1% UG H TH-ZIH died & | 354 ¥
1/5 W % fTC v9m| I T WEER SHET | 39 3e9d & fou wH A @t w
oAt TUsel dfe 9l o f19d W < 9 aN1 < 5 o YR T HET o |
et uie ot & av 9

Eh 2013 — 14 | 2014 —15 | 201516 | 2016 — 17 | 2017 — 18

N (3) 50,000 | 40,000 | 75,000 | (25,000) | 50,000

Ffetad 1 THEISH i o I9aTd B sl TAT(G i TUET ST
Ty 2014 — 15 & AN Sl TUMT ATA hl A g0 T 10,000 i T T
T o 9aTq i T8 o |

Hari and Krishan were partners sharing profits and losses in the
ratio of 2 : 1. They admitted Shyam as a partner for 1/5th share in the
profits. For this purpose the Goodwill of the firm was to be valued on the
basis of three years’ purchase of last five years average profits. The
profits for the last five years were :

Year 2013-14 | 2014 -15 | 2015-16 | 2016 —17 | 2017 — 18
Profit (%) 50,000 40,000 75,000 (25,000) 50,000

Calculate Goodwill of the firm after adjusting the following :

The profit of 2014 — 15 was calculated after charging ¥ 10,000 for
abnormal loss of goods by fire.
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9. T dUT @ Th B oh HIBIGR & AT 7 : 3 % TJIA H H-FIH dled g | STohl
il 9Sf 0 % T 9,00,000 T @ T 4,00,000 off | HEER! Ho@ § HEfeiad
T JTEYT o :

() IS W 10% i 98 ==
(i) & I 9fd 99 T 50,000 9 qAT @ hl Jfd 918 T 3,000 I |

31 9=, 2019 I THT FC a9 o AH T 2,78,000 1 FIHSH ST W =A< qe
HTeieil o1 ddq e foMT st feam e |

319 S o1 TR A §Y ITYTH < o (¢ ATTRIH THREIGH Tafee Hivw | 3

STt
%, @ A T TH BH b ARER A | 1 3, 2018 I A Ui s
T 4,00,000, T 3,00,000 TAT T 2,00,000 ff | HCH TG & UMl

TER

(i) I T 5,000 Ifd HTE Iq9 <F o |

(i) @R wl Ut W 10% it o <= 2= o |

31 T, 2019 %I HATK §T ¥ 1 Yg AW T 3,00,000 I {THSH HEEH *
e IUYh Al ol yrae fepu fomm s feam |

I T I T A g ITAH (S o e o fIC TARiem afafee hive | 3

A and B are partners in a firm sharing profits and losses in the
ratio of 7 : 3. Their fixed capitals were : A ¥ 9,00,000 and B ¥ 4,00,000.
The partnership deed provided the following :

) Interest on capital @ 10% p.a.

(ii)  A’ssalary T 50,000 per year and B’s salary ¥ 3,000 per month.
Profit for the year ended 31st March, 2019 ¥ 2,78,000 was distributed
without providing for interest on capital and partners’ salary.

Showing your working clearly, pass the necessary adjustment entry for the
above omissions.

OR

A, B and C were partners in a firm. On 1St April, 2018, their capitals
stood at ¥ 4,00,000, ¥ 3,00,000 and T 2,00,000 respectively. As per the
provisions of the partnership deed

) A was entitled to a salary of ¥ 5,000 per month.

(i1)  Partners were entitled to interest on capital @10% p.a.

The net profit for the year ended 31st March, 2019, ¥ 3,00,000 was
divided among the partners without providing for the above items.
Showing your working clearly, pass an adjustment entry to rectify the
above error.
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11.

ﬁ@ﬂ%WWlﬂﬁWﬁ%@%%ﬁgﬁ
wuﬁ‘%aﬁanqﬁwﬁaﬁ%qgﬁ?200000@6941@%@%1/4%
h E ﬁWW|ﬁaﬁWqﬂaw\ﬂww
AR I YSt h] HHEISH AH-H8WISH 9. | W%‘ITIWﬁZﬁ%B
giuT qen qémldﬁ o G § HrEl-d GHRISH i o qe=rq 9, g ae
. T 40,000; T 50,000 T T 60,000 oft |

l, 0 A ST 1 T o 1 T B A I S 3 o A e
o SA1E9geh UsHM=n gfafseat shifvw |

P, Q and R were partners in a firm sharing profits and losses equally.
S was admitted as a new partner for 1/4th share in the profits. The total
capital of the new firm as agreed between P, Q, R and S was ¥ 2,00,000
and S brought in cash equivalent to 1/4th of this amount as his capital.
The capitals of P, Q and R were also to be adjusted in their profit sharing
ratio by bringing in or paying off cash as the case may be. The capitals of
P, Q and R after doing adjustments related to revaluation of assets and
reassessment of liabilities were ¥ 40,000; ¥ 50,000 and ¥ 60,000
respectively.

Calculate the new capital of P, Q and R and pass necessary journal
entries for the above transactions in the books of the firm.

g qon 39 U w0 WEER A qUT 3 : 7 % U H AW died o |
31 T, 2019 1 3T B I frEeT B T |ﬁmaﬁﬁr@xﬁ®ﬁrﬁmm
T 90,000 1 i qAT T 1,00,000 % AR e @I o1 | qRE=l (Thg
Eﬁaméaﬁﬁuquﬁsplsw amqaﬁawéamsﬁaﬁaagﬁ@ﬁﬁ

ST i o v fefetfad oieed

() ﬁrs'ﬁwmaﬂm%,w%% Wﬁ%ﬁﬂl

(i) el TIh BT 20%, T 20,000 % eI 4 It fueH # & fomm |
(iii) 9 Tk Sl 10% hl BIH T T &=7 T4 |

(iv) Y TFERI Sl = GRT 5% 93 T YA fomam T |

STh Tl o foTu w1 sl J&qehl § SATawTeh UsiHTo= Jfafsear shifee |

Singh and Jain were partners in a firm sharing profits and losses in the

ratio of 3 : 7. On 315t March, 2019 their firm was dissolved. On the date

of dissolution the Balance Sheet showed stock of ¥ 90,000 and creditors

of ¥ 1,00,000. After transferring the assets (other than cash in hand and

cash at bank) and third party liabilities to realisation account the

following transactions took place :

1) Singh took over 50% of the total stock at 10% discount.

(i1)  20% of the total stock was taken over by creditors of ¥ 20,000 in
full settlement.

(iii) Remaining stock was sold for cash at 10% loss.

(iv) Remaining creditors were paid by cheque at a discount of 5%.

Pass necessary journal entries for the above transactions in the books of

the firm.




12. TUFH, 91 QAT 9IS Uh HH o TSGR & qAT 3: 3 : 4 & U § &Y &ied o |
31 A, 2016 I S HT B 8 T | JS & MEH F Hhl I UM
T 1,09,000 ft | B H T 19,000 B YIAH T HL AT T qAl
31 HTH, 2017 ¥ IE HTh I H TAH dH ST fpedi & 129 aTfie
SIS o T fohal TRT | ®H 79T gEaeh Wfd a9 31 WTE I ¢ Ll & |
U T TohT ST ok o T WIAT daR I | 4
X, Y and Z were partners in a firm sharing profits in the ratio of 3 : 3 : 4.

Z died on 315t March, 2016. The amount payable to Z’s executor K was
T 1,09,000. ¥ 19,000 were paid to K immediately and the balance was
paid in three equal yearly instalments starting from 315t March, 2017
with interest @ 12% p.a. The firm closes its books on 315t March every
year.

Prepare K’s account till he is finally paid.

13. TS T 915 UTSER & a1 3 : 2 T H oY dfed 8 | 3eh A9 doig |
ISt W 10% aTfYeh ST T QT AR W 129 TN AN i 1 a9
o1 | 31 W, 2019 S TATA BT ¥ o (AQ AU AWM FRISH @,

TrgiErt % ot @ e =T @i e fer e E |
31 WT=, 2019 1 AT gC ¥ o forg vz e @
™ — m%[am
(%) (%)
. _ AY-BI QT
IS WS e
QOI'HW‘CHQ'L{SIIdl .......... T Y &1 .
qE B ACQ G oo | e, THE 1 AT @Il ...
I
w A ET R B A G oo | e,
FEATANA oy
T <1 =Te] @Tal 1,20,000
qE B A G e |
2,84,000 2,84,000
ATER & Uil @
™ ST
S T | AR wE | dE
() | (®) (Z) | (%)
WA AT | | e, AT AT || e,
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ATSERI ok A1) @Td
™ ST
o T Ao e | dE
(%) (%) (%) (%)
S (ATE) 10,000 | 9,000 | ¥ = @ 78,000 | 69,000
.............................. ISl W = 18,000 | 24,000

............................................................

..............................

319, 2019 % TAT 7T 99 % fore emv-a fafEee @, et & 4ot
@rd JAT =Te] @ral sl G0 T |

arera
THE Q1 915 Toh BH o HISGR & 941 2 : 1 39T § AT sied 8 | 371
Tt 4t shHe: T 5,00,000 TAT T 3,00,000 7 | Gt W 9% wfa 9y = @@
2 | BT W 12% Afd a9 =TT =0 ST 2 | THH bl T 4,000 Ui 918 ddd
T2 | 91 % FOT T 2,00,000 W 6% T AT fed1 Sl @ | 31 A, 2019
1 AT gY I H THH 1 @1 T 60,000 TAT TS HI AW T 72,000 AT |
G TH T 5% HH G | gEAARd 1 2 | 31 Hr=, 2019 i THIG §T
T 1 A AH-gH =i @ fi= fen R

31 9T, 2019 W1 TAT TC TW T YW TH-g Ferfrase @ran

ki) e WW
ferarm ) | ()
ot W = IEEIERCIG]

U T AT @ ........ JgEW A= AT |
qE B AL G e |, TR W

o T 1 AT @I .......

TR BT A T | e,

AT T 15,000 | S T AL G covver. | e,
FETANT T

T T 9] G .........

ELECaRC I 1| P IR

....................

31 W=, 2019 I GHT BT 94 o fIQ wag qe a3 1 erH-gT fafaem @
qu $||\3Q |
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X and Y are partners sharing profits in the ratio of 3 : 2. Their
partnership deed provided for allowing interest on capital @ 10% p.a. and
charging interest on drawings @ 12% p.a. The incomplete Profit and Loss
Appropriation Account for the year ended 31st March, 2019, partners
capital and current accounts are given below :
Profit and Loss Appropriation Account for the year ended
31st March, 2019
Dr Cr
X Amount . Amount
Particulars ) Particulars (Z)
To Interest on Capital : By Profit and Loss A/c
X’s Current A/lc  .......... Net Profitb/d | ...
Y’s Current Alc  .......... | ... By Interest on Drawings :
To Salary X’s Current Alc .........
Y’s Current Alc | ... Y’s Current Alc ......... | ...
To Profit transferred to :
X’s Current A/c  1,20,000
Y’s Current A/lc  .......... | ...
2,84,000 2,84,000
Partners’ Capital Accounts
Dr Cr
. X Y ) X Y
Particulars ) ) Particulars ) )
To Balancec/d | ......... | ......... By Balance b/d | ... | .........
Partners’ Current Accounts
Dr Cr
. X Y . X Y
Particulars () () Particulars ) ()
To Bank
. 10,000 9,000 | By Balance b/d 78,000 | 69,000
(Drawing)
Byl
TO oo | oo | oo y ntereston 48000 | 24,000
Capital
TO vveeeee | | By oooooe. ||
By coooooe. 1| e,
Complete the Profit and Loss Appropriation Account for the year ended
31st March, 2019, Partners’ Capital Accounts and Current Accounts.
OR

P.T.O.




X and Y are partners in a firm sharing profits and losses in the ratio of
2 : 1. Their fixed capitals are ¥ 5,00,000 and ¥ 3,00,000 respectively.

Interest on capital is allowed @ 9% p.a. while interest on drawings is
charged @ 12% p.a. X is allowed a salary of ¥ 4,000 per month. Interest
on Y’s loan of ¥ 2,00,000 is to be provided @ 6% p.a. During the year
ended 318t March, 2019, X’s drawings were ¥ 60,000 and Y’s drawings
were T 72,000. 5% of the Net Profit is to be transferred to General
Reserve. Incomplete Profit and Loss Appropriation Account for the year
ended 31st March, 2019 prepared by the firm is given below :

Incomplete Profit and Loss Appropriation Account for the year ended
31st March, 2019

Dr Cr

. A t . A
Particulars n?;)m Particulars Ir(lgl)mt
To Interest on Capital : By Profit and Loss Alc

X’s Current Alc .......... Net Profit b/d

Y’s Current Alc ..........

By Interest on
Drawings :

X’s Current Alc ........
Y’s Current Alc .........

To Salary
X’s Current A/c

....................

To General Reserve
To Profit transferred to :

X’s Current Alc ..........
Y’s Current Alc ..........

Complete the Profit and Loss Appropriation A/c of X and Y for the year
ended 31st March, 2019.

67/1/2 10
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1 3199, 2016 =1 T fafes 3 died fafads i T 6,00,000 i aREFaRmET
AT T 70,000 H FATT H AT T 6,60,000 F eI W fRAT | MO
ffides 9 %9 Iod &1 g0 YaE T 100 Y&h b 12% KOG Bl 10%
sfiftrerm o Frifera shteh feharm | SR B S diF a6 o qvETd 5% o Hiftem
T T oA | HIGH 4 31 WTE, 2018 1 RIYF YT G99 § JJdH AALIh
T g O R R | gE 10% aTfYeh ST T EChRT Tfavfai §
Araweh a9 1 318, 2018 & fopam | e W 31fSid =T T *wedt 10%
HI T Y HI TS |

Fors ffm @ g & eufdfgd 0 aun kol | S sl gfafsesdt
BIgHL FOIHT o FTHA qAT IMeA <l ATTIH TeirH=n gfafseat Hif |

On 1st April, 2016, Ganesh Ltd. acquired assets of ¥ 6,00,000 and took
over liabilities of ¥ 70,000 of Sohan Ltd. at an agreed value of ¥ 6,60,000.
Ganesh Ltd. issued 12% Debentures of ¥ 100 each at a premium of 10%
in full satisfaction of purchase consideration. The debentures were
redeemable after three years at a premium of 5%. The company decided
to transfer the minimum required amount to Debenture Redemption
Reserve on 31st March, 2018. It also made the required investment in
Government securities earning interest @ 10% p.a. on 15t April, 2018. Tax
was deducted on interest earned @ 10%.

Ignoring entries relating to writing off loss on issue of debentures and

interest paid on debentures, pass the necessary journal entries to record
the issue and redemption of debentures.

31 W=, 2019 S FAT FC oY  [AY WRA FAS T T T YAH @It
frafafiea 2

31 WT=, 2019 i THT gC AW ok 10 WRet Feral o1 TTfed T YT @ran

. T Ty
il () | T )
3y = @ 10,500 | I 25,000
L] 70,500 | I =T 4,000
TE] 5,000 | T 3,000
TSI Tl Yoob 10,000 | fertrn 32,000
fofam & st 2,000 | g&doh 4,000

A9 = T 30,000
98,000 98,000




0]
ST1aRE g1
P 31.{(3%2)018 31.:(3%2)019
Am == 2,000 3,500
3Ted ==l 3,400 4,300
NRSIED 8,000 12,000
9% Taf=mr 25,000 25,000

31 W=, 2019 %I TWS BT 9N % U a9 H A qUT A @rAT q™
319, 2019 ! 3HehT fEfd foawor G Hifvw |

Following is the Receipts and Payments Account of Bharti Club for the
year ended 315t March, 2019.

Receipts and Payments Account of Bharti Club for the year ended

315t March, 2019
) Amount Amount
Receipts ) Payments )
To Balance b/d 10,500 | By Salaries 25,000
To Subscriptions 70,500 | 27 rgaveumg 4,000
xpenses
To Donations 5,000 | By Stationery 3,000
To Life Membership Fees
10,000 | By Rent 32,000
To %ncome from 2,000 | By Books 4,000
nvestments
By Balance c¢/d 30,000
98,000 98,000
671112 12
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Additional Information :
Particul 31.3.2018 | 31.3.2019
articulars ) )
Advance Subscription 2,000 3,500
Outstanding Subscription 3,400 4,300
Books 8,000 12,000
9% Investments 25,000 25,000

Prepare Income and Expenditure Account of the Club for the year ended
315t March, 2019 and its Balance Sheet as at 315t March, 2019.

16. TSt fafies 3 T 10 3% & 1,00,000 FHAT WM & fFEA & fIQ 3mmegq
smmfera R | 3Tem @ i 60% < iftrm W foRen o | Uiyt o1 yrram =
THR B T o ;

TS qYT 3TMeeT W — T 69 3 (T 4 Hifim afzq)

o gt rfm I . — Hftem afza 9w
1,90,000 37 % TTQ STEE T BT | 3TeeA F1 FohR | oA T

T % —10,000 373 & fT 3TreEAt 1 € L feam m |

T @ —1,00,000 37N o fAT AT 1 50,000 T HT 3TTee T T |

Tt T - 80,000 3T o fTT AT ST 50,000 A T TeeA T T |
TS qT 3TMeeH W UTed IfATTh TR BT TUESH Y90 a1 AfH Ire-T 1
=7 Uiy 7 fomam T |
T @ O gEtyd srelt, SEa 1,000 A9 % fw smeae feem oem, 9
I AR AW TR 1 YA TG o THI L feam o |
T Y gEq o, TS 1,000 TR0 R 3Teed foRam T o1, YoW qen 31t
T TRT T YA B § STEHa @ | 3Heh 37T 1 g B = T 15 i
379 Ui g YA i Rt feum T e |
Tt fafiee f geasl § IWfE oFeAl & fau stevges UsHTEEn wfafset
HIfT | 8

YT
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‘FE fafiee’ T 10 T % 4,00,000 3= H fa9h T 40,00,000 i ATeeRd
USit ok |1 USfihd off | $H ® 70,000 YU &A@ A 1 FEA BHE wR
fafee’ = 398 ha fohu U e & forw fekam M 1 2,00,000 A3 T A
ST SRl TRl TRIT QT T T YA 4 TR & AT o

JHed — T 3Yfq 319
I T/ — T 29fq 379
T 1T I — T 2Yfq 379

el @ SAf=m A W~ T 39fd W
39 RN W AR 7 TR € T 78

1,00,000 373N W — Wi T Ul i
60,000 37T W — T 79fd W
30,000 373N 9 — T 59fd 3w
10,000 379 W — T 39fd 3w

fgmRl A 37 10,000 =M1 1 &1 A v TS99 W shaet < 3 9l 3791 ured 7Y

9 | 39 9 W T 12 9k 7 U1 wea A e fom e

3T TFcl % fau e fafiee’ it el 0 steREss U Safseat
ST | 8

Rathee Ltd. invited applications for issuing 1,00,000 equity shares of
T 10 each. The shares were issued at a premium of 60%. The amount was
payable as follows :

On Application and Allotment - < 6 per share (including

premium < 4)
On First and Final Call — Balance including premium

Applications for 1,90,000 shares were received. The allotment was made
as follows :

Category A — Applications for 10,000 shares were rejected.

Category B —Applications for 1,00,000 shares were allotted
50,000 shares.

Category C — Applications for 80,000 shares were allotted 50,000 shares.

67/1/2 14



Excess money received on application and allotment was adjusted

towards sums due on first and final call.

Ali, who belonged to Category B, and had applied for 1,000 shares, paid
the entire amount of his share money with application.

Bali, who belonged to Category C, was allotted 1,000 shares, failed to pay
the first and final call money. His shares were forfeited and re-issued at
T 15 per share fully paid up.

Pass necessary journal entries for the above transactions in the books of
Rathee Ltd.

OR

‘Venus Ltd’ was registered with an authorised capital of ¥ 40,00,000
divided into 4,00,000 equity shares of 10 each. 70,000 of these shares
were issued as fully paid to ‘M/s. Star Ltd.” for building purchased from
them. 2,00,000 shares were issued to the public and the amounts were

payable as follows :

On Application — < 3 per share
On Allotment — T 2 per share
On First Call — < 2 per share

On Second and Final Call — I 3 per share

The amounts received on these shares were as follows :

On 1,00,000 shares — Full amount called
On 60,000 shares — R 7 per share
On 30,000 shares — T 5 per share
On 10,000 shares — T 3 per share

The directiors forfeited 10,000 shares on which only ¥ 3 per share were
received. These shares were reissued at ¥ 12 per share fully paid. Pass
necessary journal entries for the above transactions in the books of
‘Venus Ltd’.
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17.

foran, mifept e e v wH H ATEER 9 qeT 2: 2 : 1% UM H AW-gIH

Sied 9 | 31 HT™, 2019 i 3ehT Tefq foemor e wop & ot -

31 HT=I, 2019 ki fer@m, |AifeRt a2 femn = fearfa feeror

i () | T <)
ST g 1,60,000 | ffr g wet 10,00,000
2 foret 2,44 000 | w0 12,00,000
AR wiasy iy 76,000 | ¥k 10,00,000
St fafay Ter 4,00,000

fer®r 14,00,000 EED 40,000

=R 14,00,000

Form 3,60,000 | 31,60,000

36,40,000 36,40,000

31 A, 2019 I T 7 BH & FAIHIN TUT {ohdT qAT AT FEIEH 5 HIHS

=1 W& 1 i fora | @ wewla g 6

i) W qA 9a W I T 2,40,000 FERT ST qAT AT R 10%
IR T SATQ |

(i)  3TIHI T A a1l ARG 7 50% Teieh T oI T o o |

(i) <TER R iy ol & T 5% &1 Jraam fern s |

(iv) H s TG 1 oA T 3,00,000 foham T qen @fa § wifeht %
T o1 FHTSE ford qer = & @i gra foman s |

(v) % ®H I $a I T 27,00,000 FHfwaa i g S forn qon e o 9w
ATH-HEWISH AT H B | 39 329 o ToTC |IEIGRI & =1 @d @i
Bl

Hif T % TN TEU I W THedhd @A, HEGRI o Yot @d o

gFifed BH 1 el foewor dam Sifu |

HAYAT
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HeT qUT HIgT St 3 : 2% AUId | Y-gIH sfed & &1 31 A=, 2019 =t fefa
oo 7 yeR @ o -

31 AT, 2019 hl A qUT HigH 1 feafa feemor

. RyR) . T3
e () | (<)
TGN 28,000 | s T Te 10,000
T S 10,000 | TTER 65,000
U= wiesy Aty 22,000 gﬁ;ﬁuﬁ& 60,000
ESiE i 33,000

7ed 60,000 T 57,000
WEd 40,000 1,00,000
1,60,000 1,60,000

1 3094, 2019 =1 f=faRad w@f @ @ % 1/5 9F W fT 35 T 1 T
AT FISER ST | TS 5 ST 91 qUf &9 § Higd 9 fehd fomam |

() MY T 10,000 BTG FiftEg w1 391 9T A@ |

(i) T 3,000 1 Th ¢IeR, TE=hl < TRT &1 i@l A KU & & § M
fe@m o, 3 319e qui f9er 29 T 2,000 1 TAE foRAT |

(iii) SHHAT @lY(d o Teh &l oh 11T T 5,000 T TTGLH HEAT T |

(iv) TehEd W ediohd T 2,000 HH TRIT T o1 | Taehi H Tioh ol HodTohd
$9%h IR qod | 10% Teeh TRl T o7 |

(v) &l SHESE o 99E 9T, Hed a9 Jigd ohl 8 Yol % 20%
S Yot ST |
QTR @A, |IRIGRI & Yoit @rd aom 75 %H o1 feufa faawor damr i | 8
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Lisa, Monika and Nisha were partners in a firm sharing profits and losses
in the ratio of 2 : 2 : 1. On 315 March, 2019, their Balance Sheet was as
follows :

Balance Sheet of Lisa, Monika and Nisha as at 315t March, 2019

Liabilities AI?;‘;M Assets AI?;‘;M
Trade Creditors 1,60,000 | Land and Building | 10,00,000
Bills Payable 2,44,000 | Machinery 12,00,000
Eimployees Provident 76,000 | Stock 10,00,000
Fund
Capitals : Sundry Debtors 4,00,000

Lisa 14,00,000 Bank 40,000

Monika 14,00,000

Nisha 3,60,000 31,60,000

36,40,000 36,40,000

On 31st March, 2019, Monika retired from the firm and the remaining
partners decided to carry on the business. It was agreed that :

) Land and building be appreciated by ¥ 2,40,000 and machinery be
depreciated by 10%.

(i1))  50% of the stock was taken over by the retiring partner at book
value.

(iii)  Provision for doubtful debts was to be made at 5% on debtors.

(iv)  Goodwill of the firm be valued at ¥ 3,00,000 and Monika’s share of
goodwill be adjusted in the accounts of Lisa and Nisha.

(v) The total capital of the new firm be fixed at ¥ 27,00,000 which will
be in the proportion of the new profit sharing ratio of Lisa and
Nisha. For this purpose, current accounts of the partners were to
be opened.

Prepare Revaluation Account, Partners’ Capital Accounts and the

Balance Sheet of the reconstituted firm on Monika’s retirement.

OR
67/1/2 18



On 315! March, 2019 the Balance Sheet of Madan and Mohan who share

profits and losses in the ratio of 3 : 2 was as follows :

Balance Sheet of Madan and Mohan as at 315 March, 2019

Liabilities AL | Assets Amount
Creditors 28,000 | Cash at Bank 10,000
General Reserve 10,000 | Debtors 65,000
Employees Provident Less : Provision for
Fund 22’000 Doubtful debts 5,000 60.000
Capitals : Stock 33,000
Madan 60,000 Patents 57,000
Mohan 40,000 1,00,000
1,60,000 1,60,000

They decided to admit Gopal on 15% April, 2019 for 1/5'" share which
Gopal acquired wholly from Mohan on the following terms :

) Gopal shall bring ¥ 10,000 as his share of premium for Goodwill.

(i1) A debtor whose dues of ¥ 3,000 were written off as bad debt paid
T 2,000 in full settlement.

(ii1)
be provided for.
(iv)

valued 10% more than its market value.

A claim of ¥ 5,000 on account of workmen’s compensation was to

Patents were undervalued by ¥ 2,000. Stock in the books was

(v)  Gopal was to bring in capital equal to 20% of the combined capitals
of Madan and Mohan after all adjustments.

Prepare Revaluation Account, Capital Accounts of the Partners and the
Balance Sheet of the new firm.
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Qs @

foeheu 1
(Torfrar Teraott w1 fargeworD)
PART B
OPTION I
(Analysis of Financial Statements)

18. Uhs JaTE faaiur dOR & & foru fasr niafafemt 1 @ aref § 2

What is meant by investing activities for preparing Cash Flow
Statement ?

19. Uhs JaTE faaior 3R S & Tfie 32T i 3@ iU |
State the primary objective of preparing Cash Flow Statement.

20. Tmfafea =1 8 T A fafide’ 1 M= R F1 dH-giH foeto dur

shifera
- =ﬁz 2018 -19 | 2017 - 18
4. (%) (%)
T § AT 20,00,000 10,00,000
STATIEh ¥Ih hl hd 7,70,000 4,20,000
Tk § qiedq 1,20,000 80,000
I = 52,000 30,000
I I 60,000 50,000
L 50%

AT

31 W, 2019 W TATA §C I o (AY Soohl (S o AWM T 4

o

[N e
(AHletidd L=l Hld gﬁ :

2018 - 19 2017 - 18
e () @)

T H ST 60,00,000 45,00,000
S f&d = 30,00,000 22,50,000
L REIL] 7,50,000 6,00,000
I = 15,50,000 10,00,000
L 50%

qoTcHeh A48T foawor dom shife |
671112
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Prepare a Common-Size Statement of Profit and Loss of ‘Hari Darshan

Ltd.’ from the following information :

Note 2018 - 19 2017 - 18
No. (%) (%)

20,00,000 10,00,000

Particulars

Revenue from Operations

Purchase of Stock in Trade 7,70,000 4,20,000
Changes in Inventories 1,20,000 80,000
Other Expenses 52,000 30,000
Other Incomes 60,000 50,000

Tax Rate 50%

OR

Following information is extracted from the Statement of Profit and Loss

of Delko Ltd. for the year ended 315t March, 2019 :

Particulars 2018 - 19 2017 - 18

() ()
Revenue from Operations 60,00,000 45,00,000
Employee Benefit Expenses 30,00,000 22,50,000
Depreciation 7,50,000 6,00,000
Other Expenses 15,50,000 10,00,000
Tax Rate 50%

Prepare Comparative Statement of Profit and Loss.

671112 21 P.T.0.
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21. @ s gE1 § fefaiea Sgami i Tomr i
(1) REIERCE I
(i)  TTeh A AU
T
Tl & g AT < 10,00,000
T & IUR AT Tl ¥ A ATTH T 120%
FEINERCOR] YTl | HA ATTH HT 10%
ehol A <hl 40%
IR wieh T 1,50,000
3fH T IO Tieh A T 20,000 Afeh
AYAT
(%) I QAT R YA U TS @1 g @9 T 1,00,000 AT | FHhT AT
gfrafat & 4,00,000 off qem 916 AT T 2,00,000 off | W 50%
off | suhl Pa uREHRET T 10,00,000 off dum 10% afafy o
T 4,00,000 1 |
e e < orn i |
(@) U Ut sl =T d IH W Thed Y G 25% & | THH! Tehed ATH
T 5,00,000 3 | 3EHT IAVURSF HIT T 25,00,000 B; A AL
T 8,00,000 9T 3= IREwfEl T 23,00,000 2 |
3Heh! IR Yot 3TEd STITa <hl TOMT FHifT |
From the given information, calculate the following ratios :
(1) Operating Ratio
(ii))  Inventory Turnover Ratio
Information :
Cash Revenue from Operations < 10,00,000
Credit Revenue from Operations : 120% of Cash Revenue from
Operations
Operating Expenses 10% of Total Revenue from
Operations
Rate of Gross Profit 40%
Opening Inventory T 1,50,000
Closing Inventory T 20,000 more than Opening
Inventory
OR
67/1/2 22



(A) Net profit after interest and tax of M Ltd. was ¥ 1,00,000. Its
Current Assets were T 4,00,000 and Current Liabilities were
T 2,00,000. Tax rate was 50%. Its Total Assets were ¥ 10,00,000
and 10% Long term debt was ¥ 4,00,000.
Calculate Return on Investment.

(B) Rate of Gross profit on Revenue from operations of a company is
25%. Its Gross profit is ¥ 5,00,000. Its Shareholders’ Funds are
T 25,00,000; Non-current Liabilities are < 8,00,000 and
Non-current Assets are ¥ 23,00,000.

Calculate its Working Capital Turnover Ratio.

22. HEOHT AfUFEE, 2013 hT FHI-II 9F-1 % JER Ffeifad Al i T Heol
& feufa foemor # fora Susfident & sr=aria qwiiEn s 2 4
(i) U
(i)  3Ted AT

(i) qagd =M

(iv) <% 8

(v) <afsa

(vi) HETAT YT
(vii) | 9=
(viil) @TAStfIeh ST

Under which sub-headings the following items will be placed in the
Balance Sheet of a company as per Schedule-III, Part-I of the Companies
Act, 2013 ?

(1) Patents
(i1))  Unpaid Dividend
(111) Calls-in-advance
(iv) Cheques-in-hand
(v)  Bills Payable
(vi)  Office Equipments
(vii)) General Reserve
(viii) Public Deposits
67/1/2 23 P.T.O.
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53. 31 9T, 2018 = way fataes =1 feufa foawor fFafataa yer @ o .
e fafies
31 WT=, 2018 1 feafa feremor
de | 31.3.2018 | 31.3.2017
foraror 9. T T
I - {HAT TS @y
1. | erwremdr fAfer .
(1) T gt 19,00,000 | 17,00,000
() @= T ATfee 1 6,00,000 |  3,00,000
2. | A ﬁ'ﬂ'dTQ' :
eehTcA I R0T 2 5,00,000 |  4,00,000
3. | =Te] 7@y ;
(31) Sfeuraty =9 3 1,70,000 |  1,75,000
(F) STty Jraa™ 4 2,00,000 |  1,65,000
$A 33,70,000 | 27,40,000
II - gttt
1. | 3T<reT gt
(31) Tomft afEraET
(i) Wd giEFfEr 5 24,00,000 | 19,00,000
(i) 3T IREF T 6 2,00,000 |  3,00,000
() ereret ferfaam 3,00,000 |  2,00,000
2. mq\trﬁumﬁﬁ :
(a1) ey ferfwr 1,40,000 |  1,70,000
(¥) (%) ATA-F= 2,60,000 | 1,30,000
(|) Uhs Td Vhg o 70,000 40,000
$A 33,70,000 | 27,40,000
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@Al o HeH
=ﬁ2 r— 31.3.2018 31.3.2017
. < <
L. LoD Qa e .
(eTfererr Sretq wmy-gT foawr &t
V) 6,00,000 3,00,000
6,00,000 3,00,000
2. | SreieRTelA /T ;@
12% OIS 5,00,000 4,00,000
5,00,000 4,00,000
3. | sreuTafyr swor
Sep arfufaeny 1,70,000 1,75,000
1,70,000 1,75,000
4. | FAcUTaY TSI :
% oI Jrae™ 2,00,000 1,65,000
2,00,000 1,65,000
5. | ud ufratat
ENIET 26,00,000 20,00,000
T : Ui (HfEd) qeagm (2,00,000) (1,00,000)
24,00,000 19,00,000
6. | 3 ufteraterat :
Tt 2,00,000 3,00,000
2,00,000 3,00,000
STaRE T :

i) T 1,00,000% 12% 9T ki fFHT 1 310, 2017 i fomam = |

(i) a9 H T 80,000 ANTA h! Teh AR R T THGA Teas™@ T 40,000 o
I T 10,000 T T =1 AT |

Uohg JaTg foewur dam il | 6
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Following is the Balance Sheet of X Ltd. as at 315t March, 2018 :

X Ltd.
Balance Sheet as at 315¢ March, 2018
Note | 31.3.2018 31.3.2017
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Funds:
(a) Share Capital 19,00,000 17,00,000
(b) Reserves and Surplus 1 6,00,000 3,00,000
2. | Non-Current Liabilities :
Long-term Borrowings 2 5,00,000 4,00,000
3. | Current Liabilities :
(a) Short-term Borrowings 3 1,70,000 1,75,000
(b) Short-term Provisions 4 2,00,000 1,65,000
Total 33,70,000 217,40,000
II - Assets :
1. | Non-Current Assets :
(a) Fixed Assets :
(i) Tangible Assets 5 24,00,000 19,00,000
(ii) Intangible Assets 6 2,00,000 3,00,000
(b) Non-Current Investments : 3,00,000 2,00,000
2. | Current Assets :
(a) Current Investments 1,40,000 1,70,000
(b) Inventories 2,60,000 1,30,000
(c) Cash and cash equivalents 70,000 40,000
Total 33,70,000 217,40,000
67112 26




Notes to Accounts :

Note . 31.3.2018 | 31.3.2017
No. Particulars = -
1. Reserves and Surplus :
(Surplus i.e. Balance in
Statement of Profit and Loss) 6,00,000 |  3,00,000
6,00,000 | 3,00,000
2. Long-term Borrowings :
12% Debentures 5,00,000 | 4,00,000
5,00,000 | 4,00,000
3. Short-term Borrowings :
Bank Overdraft 1,70,000 | 1,75,000
1,70,000 | 1,75,000
4. Short-term Provisions :
Provision for Tax 2,00,000 | 1,65,000
2,00,000 | 1,65,000
5. Tangible Assets :
Machinery 26,00,000 | 20,00,000
Less : Accumulated Depreciation | (2,00,000) | (1,00,000)
24,00,000 | 19,00,000
6. Intangible Assets :
Goodwill 2,00,000 | 3,00,000
2,00,000 | 3,00,000

Additional Information :

(i)

(i1)

< 1,00,000, 12% Debentures were issued on 1 April, 2017.

During the year, a piece of machinery costing ¥ 80,000 on which

accumulated depreciation was ¥ 40,000 was sold at a gain of
< 10,000.

Prepare a Cash Flow Statement.
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18.

19.

20.

21.

22.

23.

@ Us @
ferereu 11
(erfiresfers eaTeR)
PART B

OPTION II
(Computerised Accounting)

BIRIEED ﬁ (1)’ (Primary Key) sl & a7 8 2
What is meant by ‘Primary Key’ ?

ST WA # S T 1 AT FATST |

Name the data element in accounting transaction.

“qree e (Password Security) ddT ‘gel dice’ (Data Vault) Y&ai i
HHHATST |

Explain the terms ‘Password Security’ and ‘Data Vault’.

‘SPATTTA (Sequential) T @ﬁr-ﬁrm’ (Mnemonic) hIgH ! IO |
STUaT

IIIE U0 37afy ° ‘S’ hl TUET hid gHY OF § W S 9T 9Eh <hl

3g@ HINT |

Explain ‘Sequential’ and ‘Mnemonic’ codes.

OR
State the element which is considered while calculating ‘earning’ for
current payroll period.

Teh 38 IGTehd ATFeaR <hl famwarsti &1 3g@ Sifvu |
AT
“FIRIIRA @R TG oh! TATIT H AlATed =0 1 Ig@ hIT |
State the features of a good accounting software.
OR
State the steps involved in installation of ‘Computerised accounting
system’.

“gicerurces ®iHfen 1 @ 319 7 2 TH fhel @ feufaat =1 3g@ Fifse s«
TfderaTcHss BT T ST fohaT ST & | 39 BIHIST o SUANT o foheal diF
ot w1 ot 3g Hifs |

What is meant by ‘conditional formatting’” ? State any two situations
when conditional formatting is applied. Also, state any three benefits of
using this formatting.
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